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1. Suppose you know that your opponent would go all in before the-flop with 100% probability if
she had AK, she would go all in before the flop with S(T% » probability if sh\e had AQ, and she
would go all in before the flop with 30% probability if she had a pocket pair. With other hands,
there is 0% probability that she would go all in before the flop. Given that she has gone all in
before the flop, and given no other information about her cards or her opponents' cards, what is

e probability that Mt}
33.8%. b.412%. ¢ 50.0%. d. 62.2%. e. None of the above.

For the next two problems, suppose Mlmep_hg; _Q ’"65 hlS ‘only opponent Lederer has 109 89,
and the flop is:24 10% 94, Before the turn is revealed, the potis $100. The turn is 44, and Ledeter
goes all in for $20. Minieri has s more than $20 and is demdmg W helhm to call SR S
Furacst ay 5 ) T
2. Assuming Minieri wants to maximize his expected number of chips after this hmd and
assuming knowledge of his. cards, Lederer's-cards, and the 4 cards.on-the board, should Minieri -
call?
es, because Minieri should call if his probability of winning the hand is at least 14.1%, and
~his probability of winning the hand is 14.3%. o
b Yes, because Minieri should call if his probability of winning the hand is at least 11.2%, and
hns probability of winning the hand is 11.4%.
_—C. <"No, because Minieri should only call if his probability of winning the hand is at least 11.8%,
" but his probability of winning the hand is only 11.4%.
¢ d )\Io because Minieri should only call if his probability of winning thc h:md is at least 14.3%,
“but his probability of winning the hand is only 11.4%. Plein) 3 0. 147

£ m
’ /c/Nonc of the above. Pl = 1 5 v 2o

3. Minieri calls, and the river is t e?.a?amo hxm 3 of a kmd/ How much equ:t} did Minieni

gain due to luck on the niver? ,
_,‘_il'."$ 101. bI§112. o $118. Oﬁ 124. _“e. None of the above.
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other on ) our next hand, and X= $O othem ise.

4. What is the expected value of X, in dollars?

(DLI18. /6. 220 _Je.245 /4289 e, Done of the above. ()= 5 (5. 395 )
. (o
5. What is the variance of X, in dollam D Ve O= 5(’&") (E(*)) = 4L5—(Y) (223635
,M 7. \@l 50, /c/ 6.28. &7.04. _eNone of the above.
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ards_ale kmszq and let B be the event that both your
ndenf? O Mati ko ko PAad- 282

6. Let A be the event that both your hol
hole cald_s are red cards:Are A and. B.in

a. No. b. Yes. #Cannol be determined from the information gl\ en. P o
A = both ore biegs (7= otk oo ook /’5”5"? ﬂ
7. Suppose you pla) 100 hands of Texas Holdem Let X = the number of han_ds where both your = _ j
hole cards are\luba\ What is the expected value of X? ' | AT
as4.29. b, 4.75. 5 L, 3 88. d/() 20. ¢..None of the above.
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8. Let X = the number of hands until the first time you are dealt 2 camds that are both clubs . What

(s B(X)? _
151, obo162. Tenl7.0. a’189. e-None of the above.

9. Suppose X and Y are uniform on (0,1) and X and Y are independent. What is cov(2X+Y,

3X+4Y)?
30404 _K 0404 L0518, (dy0s33. o/None of the above.

10. Suppose X is exponential with A = 2, so E(X) = 1/2. Whatis P(2 < X <3)? (e ~2.718282).
ac0593%. (D 1.58%. /c*'7 29%. _d:8.03%. cNone of the above.

11. Suppose the odds agamst X a19_3,\)r as it is sometimes written, 3:1. What is P(X)?
a300%. (62 250%. G 333%. /d’ 50.0%. 6 None of the above. nda oaivst %= 2.

{3/»—7 _,___J_,
12. What is the probability that the suits of yo oux 2 hole C'ards will be different from each otheﬂ

_A.500%.  (bY76.5%. (BLS%. dRAST.  Noneof the above.
13. What is the probability that your 2 hole cards will forim a “pair, gwen that your 2 hole cards
are of different suits? 3
2.433%.  b.502%.  c.649%. @.69%. ¢. None of the above. =

14. What is the probability that the 3 C'lldS on the [ lop are all different numbers? For instance, if
the cards are 74 Q% Q#, then we would say two of them are the same number (the two queens).
Or if the cards are 78 79 74, then they are all the same number (all 7s). But if they are 74 Q# 44

then they are all different numbers.
@2.8%._ B 844%. ¢ 810%. d.892%.  e/None of the above.
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